Log STATA

. logit fd cr ocf inf, nolog

Logistic regression                               Number of obs   =         85

                                                  LR chi2(3)      =      23.36

                                                  Prob > chi2     =     0.0000

Log likelihood = -19.108608                       Pseudo R2       =     0.6630
------------------------------------------------------------------------------

          fd |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

          cr |   .0092776   .0044819     2.07   0.038     .0004932     .018062

         ocf |   .3375681   .0929182     3.63   0.000     .1554517    .5196845

         inf |   .1752016   .4154823     0.42   0.673    -.6391288     .989532

       _cons |  -1.921531    2.67386    -0.72   0.472    -7.162201    3.319138

------------------------------------------------------------------------------

. * hasil estimasi logit terhadap model

. * yang signifikan ada;ah cr dan ocf

. predict plgtfdht

(option pr assumed; Pr(fd))

. gen lnplgtfdht=ln(plgtfdht/(1-plgtfdht))
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. scatter plgtfdht fd lnplgtfdht

. logit fd cr ocf inf, nolog or

Logistic regression                               Number of obs   =         85

                                                  LR chi2(3)      =      23.36

                                                  Prob > chi2     =     0.0000

Log likelihood = -19.108608                       Pseudo R2       =     0.6630
------------------------------------------------------------------------------

          fd | Odds Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

          cr |   1.009321   .0045237     2.07   0.038     1.000493    1.018226

         ocf |   1.401535   .1302282     3.63   0.000     1.168186    1.681497

         inf |   1.191486   .4950416     0.42   0.673      .527752    2.689975

       _cons |   .1463826   .3914066    -0.72   0.472     .0007753    27.63653

------------------------------------------------------------------------------

. * Nilai Odds Ratio mewakili kemungkinan untuk FD= 1 ketika variabel meningkat sebesar 1 unit. Nilai ini adalah exp (logit coeff). 

. * Lihatlah tanda koefisien logit. 

* Jika > ATAU 1 maka kemungkinan FD = 1 meningkat. Jika < ATAU 1 maka kemungkinan FD = 1 menurun.  

. mfx

Marginal effects after logit

      y  = Pr(fd) (predict)

         =  .97078281

------------------------------------------------------------------------------

variable |      dy/dx    Std. Err.     z    P>|z|  [    95% C.I.   ]      X

---------+--------------------------------------------------------------------

      cr |   .0002631      .00015    1.75   0.080  -.000032  .000558    154.24

     ocf |   .0095746      .00532    1.80   0.072  -.000845  .019994   8.75259

     inf |   .0049693      .01156    0.43   0.667  -.017689  .027628     5.932

------------------------------------------------------------------------------

* marginal effect tell us partial change of one variable.

* On average, which is a company has 154,24 for current ratio, 8.75 for OCF and inflation rate 5.932, increase in current ratio by 1 unit will increase the probability of not distress by 0.00026 or 0.026%. In addition, increase in OCF by 1 unit will increase probability of not distress by 0.9% or 0.0096 point. This is the biggest 
. fitstat

Measures of Fit for logit of fd

Log-Lik Intercept Only:      -30.788     Log-Lik Full Model:          -19.109

D(81):                        38.217     LR(3):                        23.359

                                         Prob > LR:                     0.000

McFadden's R2:                 0.663     McFadden's Adj R2:             0.531
Maximum Likelihood R2:         0.240     Cragg & Uhler's R2:            0.466

McKelvey and Zavoina's R2:     0.656     Efron's R2:                    0.367

Variance of y*:                9.566     Variance of error:             3.290

Count R2:                      0.906     Adj Count R2:                  0.200

AIC:                           0.544     AIC*n:                        46.217

BIC:                        -321.638     BIC':                        -10.031

. estat gof

Logistic model for fd, goodness-of-fit test

       number of observations =        85

 number of covariate patterns =        85

             Pearson chi2(81) =        86.57

                  Prob > chi2 =         0.3155

. estat classification

Logistic model for fd

              -------- True --------

Classified |         D            ~D  |      Total

-----------+--------------------------+-----------

     +     |        73             6  |         79

     -     |         2             4  |          6

-----------+--------------------------+-----------

   Total   |        75            10  |         85

Classified + if predicted Pr(D) >= .5

True D defined as fd != 0

--------------------------------------------------

Sensitivity                     Pr( +| D)   97.33%

Specificity                     Pr( -|~D)   40.00%

Positive predictive value       Pr( D| +)   92.41%

Negative predictive value       Pr(~D| -)   66.67%

--------------------------------------------------

False + rate for true ~D        Pr( +|~D)   60.00%

False - rate for true D         Pr( -| D)    2.67%

False + rate for classified +   Pr(~D| +)    7.59%

False - rate for classified -   Pr( D| -)   33.33%

--------------------------------------------------

Correctly classified                        90.59%

--------------------------------------------------

PAGE  
5

